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Extra Practice 4

	Lesson 6.4: The Distributive Property

1.
Draw a rectangle to show that 7(x + 3) and 7x + 21 are equivalent.

2.
Draw algebra tiles to show that 2(n – 5) and 2n – 10 are equivalent.

3.
Expand.

a) 5(x + 6)

b) 7(5 – e) 

c) 3(–x + 8)

d) –4(6 – e)

e) 8(–2n + 4)

f) –3(11y + 7)

g) 7(5n – 4)

h) –4(–11y + 3)

4.
Lottery tickets are sold by a local charity to raise money for cancer research. 
Each ticket costs $100. Some people pay with a $100 bill and some pay with a $100 cheque. 
Write two expressions you can use to calculate the total amount of money collected. 
Let b represent the number of $100 bills received. 
Let c represent the number of $100 cheques received.

5.
Which pairs of expressions are equivalent? 
Explain your reasoning.


a) 4x + 60 and 4(x + 15)

b) c + 4 and 4 + c
c) 4 + 2b and 6b

d) 3(a + 5) and 8 + 3a

6.
A school uniform consists of a shirt and a pair of shorts. 
A shirt costs $22. A pair of shorts costs $15.

a) Write two different expressions to find the cost of supplying 8 students with uniforms.

b) Evaluate each expression. Which expression did you find easier to evaluate? 

Justify your choice.

7.
Expand.

a) 2(3 + 4y + 7)

b) 3(9a – 5 – 6)

c) –9(–4 – 7c + 10)
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